EXAM MLC QUESTION OF THE WEEK

S. Broverman, 2008

Week of March 17/08

A 2 decrement model beginning at age (x) has the following forces of decrement:

) = 5 0<t <40 and  pP(t) = 25 0<t <80

F| nd 5|5q3(;1) .

The solution can be found below.



Week of March 17/08 - Solution

5|5Q:51) 10gs” —56.7:1 f - t)dt — f05 () dt

tpgs = exp| — fo Mw ()( ))dt:exp[—fg(mls 80— s)dt

= exp| — (ln(40 ;) +2ln(8o Dl = () (5gh)?

Sy’ th )dt— YAty (80-ty2( Ly g = L [19(80 — )2 dit = 1220052 .
Sy ep - fo (A0ty(B0)2( L) dt = ol [7(80 — )2 dt = 117350 .

S50t = .220052 — 117350 = .103 .



